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QUESTION 1

You must deploy AppSecure in your network to block risky applications. 

In this scenario, which two AppSecure features are required? (Choose two.) 

A. AppFW 

B. AppID 

C. APBR 

D. AppTrack 

Correct Answer: BD 

 

 

QUESTION 2

When working with network events on a Juniper Secure Analytics device, flow records come from which source? 

A. tap port 

B. SPAN 

C. switch 

D. mirror 

Correct Answer: B 

Reference: https://www.juniper.net/documentation/en_US/jsa7.3.1/jsa-arch-deployment-guide/topics/ concept/jsa-ad-jsa-
events-and-flows.html 

 

QUESTION 3

What are two valid JIMS event log sources? (Choose two.) 

A. Microsoft Windows Server 2012 audit logs 

B. Microsoft Active Directory server event logs 

C. Microsoft Exchange Server event logs 

D. Microsoft Active Directory audit logs 

Correct Answer: BC 
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QUESTION 4

After performing a software upgrade on an SRX5800 chassis cluster, you notice that node1 is in the primary state and
node0 is in the backup state. Your network standards dictate that node0 should be in the primary state. 

In this scenario, which command should be used to comply with the network standards? 

A. request chassis cluster failover redundancy-group 254 node 1 

B. request chassis cluster failover redundancy-group 0 node 0 

C. request chassis cluster failover redundancy-group 254 mode 0 

D. request chassis cluster failover redundancy-group 0 node 1 

Correct Answer: B 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-chassis-clusterredundancy-
group-failover.html 

 

QUESTION 5

What is the default timeout period for a TCP session in the session table of a Junos security device? 

A. 1 minute 

B. 60 minutes 

C. 15 minutes 

D. 30 minutes 

Correct Answer: D 
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